BID TABULATION FOR:

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES, GRADING, PAVING AND APPURTENANCES TO SERVE THE WOODLANDS HILLS SECTION 45 REBID

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 129

CITY OF WILLIS, MONTGOMERY COUNTY, TEXAS

JULY 17, 2025

LJA ENGINEERING, INC.

A.CAROTHERS

JULY 17, 2025 0474-0245 (9.2)

BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

BID OPENING DATE:

NO. 0474-0.

	BIDDER NAME	BASE BID	ALTERNATE NO. 1 PLUS BASE BID	ALTERNATE NO. 2 PLUS BASE BID	ALTERNATE NO. 3 PLUS BASE BID
1) BLAZEY CONS	STRUCTION SERVICES LLC	\$677,883.24	\$1,121,945.14	\$1,275,819.24	\$1,309,071.24
2) MTEX CONST	RUCTION, LLC	\$719,928.00	\$1,081,305.50	\$1,112,048.80	\$1,276,662.00
3) CE BARKER L	TD.	\$860,888.35	\$1,230,630.35	\$1,210,653.55	\$1,205,298.55

CALENDAR DAYS: 25/25

I, Micah Kreikemeier , PE, hereby certify these bid tabulations to be true and correct.



MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 129
CITY OF WILLIS, MONTGOMERY COUNTY, TEXAS
JULY 17, 2025
LIA ENGINEERING, INC.
A.CAROTHERS
JULY 17, 2025
0474-0245 (9.2)

				1) BLAZEY CONSTR	UCTION SERVICES LLC	2) MTEX CON	STRUCTION, LLC	3) CE BA	RKER LTD.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	D DIVISION I - WATER DISTRIBUTION SYSTEM 4" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	125	\$17.00	\$2,125.00	\$24.00	\$3,000.00	\$22.40	\$2,800.00
2.	6" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	260	\$23.00	\$5,980.00	\$30.00	\$7,800.00	\$29.35	\$7,631.00
3.	8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1150	\$30.00	\$34,500.00	\$39.00	\$44,850.00	\$38.02	\$43,723.00
4.	FIRE HYDRANT UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, $6^{\rm u}$ Gate valve & box, and lead pipe, all depths, complete in place	EA	5	\$6,697.00	\$33,485.00	\$7,400.00	\$37,000.00	\$7,962.12	\$39,810.60
5.	1" AIR RELEASE VALVE ASSEMBLY FOR WATER LINE, INCLUDES SERVICE MANHOLE, COMPLETE IN PLACE	EA	1	\$3,970.00	\$3,970.00	\$3,560.00	\$3,560.00	\$3,607.84	\$3,607.84
6.	8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	3	\$2,011.00	\$6,033.00	\$2,530.00	\$7,590.00	\$2,301.05	\$6,903.15
7.	TRENCH SAFETY SYSTEM FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1535	\$0.30	\$460.50	\$0.10	\$153.50	\$1.28	\$1,964.80
8.	SHORT SIDE DOUBLE OR SINGLE SERVICE, WATER SERVICE INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA	12	\$964.00	\$11,568.00	\$900.00	\$10,800.00	\$997.90	\$11,974.80
9.	LONG SIDE DOUBLE OR SINGLE SERVICE, WATER SERVICE INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS, AND TAPS, COMPLETE IN PLACE	EA	6	\$1,139.00	\$6,834.00	\$1,565.00	\$9,390.00	\$1,123.03	\$6,738.18
10.	WET CONNECTION OF PROPOSED 8" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,094.00	\$1,094.00	\$800.00	\$800.00	\$1,850.21	\$1,850.21
SUBTOT	AL BASE BID DIVISION I - WATER DISTRIBUTION SYSTEM				\$106,049.50	•	\$124,943.50	-	\$127,003.58
	D DIVISION II - ONSITE SANITARY SEWER COLLECTION SYSTEM STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, (0' - 8' DEPTH), INCLUDES PROTECTIVE INTERIOR COATING AND ADJUSTMENTS, COMPLETE IN PLACE	EA	1	\$3,450.00	\$3,450.00	\$3,995.00	\$3,995.00	\$3,448.88	\$3,448.88
2.	5' DIAMETER PRECAST SANITARY SEWER MANHOLE, (0' - 10' DEPTH), INCLUDES PROTECTIVE INTERIOR COATING AND ADJUSTMENTS, COMPLETE IN PLACE	EA	11	\$5,711.00	\$62,821.00	\$5,890.00	\$64,790.00	\$5,431.50	\$59,746.50
3.	EXTRA VERTICAL DEPTH FOR 4' DIAMETER SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	0.88	\$230.00	\$202.40	\$250.00	\$220.00	\$255.00	\$224.40
4.	EXTRA VERTICAL DEPTH FOR 5' DIAMETER SANITARY SEWER MANHOLE (OVER 10' DEPTH), COMPLETE IN PLACE	VF	18.72	\$482.00	\$9,023.04	\$315.00	\$5,896.80	\$537.00	\$10,052.64
5.	8" PVC SEWER PIPE, ASTM D-3034, SDR 26, $8'$ - 12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	568	\$40.00	\$22,720.00	\$47.00	\$26,696.00	\$53.10	\$30,160.80
6.	8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 12' - 16' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1240	\$48.00	\$59,520.00	\$51.00	\$63,240.00	\$60.75	\$75,330.00

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 129
CITY OF WILLIS, MONTGOMERY COUNTY, TEXAS
JULY 17, 2025
LIA ENGINEERING, INC.
A.CAROTHERS
JULY 17, 2025
0474-0245 (9.2)

				1) BLAZEY CONSTR	UCTION SERVICES LLC	2) MTEX CONS	TRUCTION, LLC	3) CE BAR	KER LTD.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
S	ONG SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	LF	597	\$66.00	\$39,402.00	\$51.00	\$30,447.00	\$81.70	\$48,774.90
S	SHORT SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	8	\$1,627.00	\$13,016.00	\$2,000.00	\$16,000.00	\$1,955.57	\$15,644.56
	TRENCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	2935	\$0.30	\$880.50	\$1.00	\$2,935.00	\$1.28	\$3,756.80
	VIDEO INSPECTION OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COPY, COMPLETE IN PLACE	LF	1000	\$3.30	\$3,300.00	\$0.01	\$10.00	\$2.49	\$2,490.00
I	3" PVC FORCE MAIN, C-900, DR 14, CLASS 305, RESTRAINED JOINT PIPE, NCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	528	\$14.00	\$7,392.00	\$27.00	\$14,256.00	\$43.77	\$23,110.56
	REMOVE AND OFFSITE DISPOSAL OF EXISTING 3" PLUG AND CLAMP AND CONNECT PROPOSED 3" FORCE MAIN, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,107.00	\$1,107.00	\$835.00	\$835.00	\$1,865.33	\$1,865.33
	CORE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED 8" SANITARY SEWER LINE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,565.00	\$2,565.00	\$250.00	\$250.00	\$4,568.76	\$4,568.76
	STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$790.00	\$790.00	\$1,650.00	\$1,650.00	\$1,376.24	\$1,376.24
SUBTOTA	L BASE BID DIVISION II - ONSITE SANITARY SEWER COLLECTION SYSTEM			-	\$226,188.94	_	\$231,220.80	_	\$280,550.37
1. 9	DIVISION III - OFFSITE SANITARY SEWER COLLECTION SYSTEM STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, SEALED AND BOLTED AND VENTED, (0' - 8' DEPTH), INCLUDES PROTECTIVE INTERIOR COATING AND ADJUSTMENTS, COMPLETE IN PLACE	EA	1	\$5,070.00	\$5,070.00	\$5,025.00	\$5,025.00	\$3,614.63	\$3,614.63
Ä	STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, SEALED AND BOLTED, (0' - 8' DEPTH), INCLUDES PROTECTIVE INTERIOR COATING AND ADJUSTMENTS, COMPLETE IN PLACE	EA	1	\$4,382.00	\$4,382.00	\$4,465.00	\$4,465.00	\$3,582.75	\$3,582.75
	EXTRA VERTICAL DEPTH FOR 4" DIAMETER SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	1.82	\$230.00	\$418.60	\$260.00	\$473.20	\$500.00	\$910.00
I	5' DIAMETER PRECAST SANITARY SEWER MANHOLE, (0' - 10' DEPTH), NCLUDES PROTECTIVE INTERIOR COATING AND ADJUSTMENTS, COMPLETE N PLACE	EA	1	\$6,115.00	\$6,115.00	\$5,925.00	\$5,925.00	\$4,800.38	\$4,800.38
(5' DIAMETER PRECAST SANITARY SEWER MANHOLE, SEALED AND BOLTED, (0'-10' DEPTH), INCLUDES PROTECTIVE INTERIOR COATING AND ADJUSTEMENTS, COMPLETE IN PLACE	EA	1	\$7,700.00	\$7,700.00	\$6,300.00	\$6,300.00	\$8,000.00	\$8,000.00
	EXTRA VERTICAL DEPTH FOR 5' DIAMETER SANITARY SEWER MANHOLE (OVER 10' DEPTH), COMPLETE IN PLACE	VF	4.15	\$482.00	\$2,000.30	\$150.00	\$622.50	\$444.60	\$1,845.09
	3" PVC SEWER PIPE, ASTM D-3034, SDR 26, 8' - 12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	395	\$44.00	\$17,380.00	\$47.00	\$18,565.00	\$48.86	\$19,299.70

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 129
CITY OF WILLIS, MONTGOMERY COUNTY, TEXAS
JULY 17, 2025
LIA ENGINEERING, INC.
A.CAROTHERS
JULY 17, 2025
0474-0245 (9.2)

				1) BLAZEY CONSTR	UCTION SERVICES LLC	2) MTEX CONS	STRUCTION, LLC	3) CE BA	RKER LTD.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
8.	8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 12' - 16' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	321	\$47.00	\$15,087.00	\$51.00	\$16,371.00	\$53.10	\$17,045.10
	3" PVC FORCE MAIN, C-900, DR 14, CLASS 305, RESTRAINED JOINT PIPE, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	440	\$14.00	\$6,160.00	\$27.00	\$11,880.00	\$43.74	\$19,245.60
10.	8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 16' - 12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	13	\$57.00	\$741.00	\$58.00	\$754.00	\$304.93	\$3,964.09
11.	TRENCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1156	\$0.30	\$346.80	\$1.00	\$1,156.00	\$1.28	\$1,479.68
12.	3" SANITARY SEWER PLUG AND CLAMP FOR FORCE MAIN, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$89.00	\$89.00	\$615.00	\$615.00	\$139.14	\$139.14
SUBTOTA	AL BASE BID DIVISION III - OFFSITE SANITARY SEWER COLLECTION SYSTEM			-	\$65,489.70	-	\$72,151.70	-	\$83,926.16
1.	DIVISION IV - DRAINAGE FACILITIES REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	8	\$3,237.00	\$25,896.00	\$3,575.00	\$28,600.00	\$6,209.25	\$49,674.00
2.	24" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	35	\$81.00	\$2,835.00	\$95.00	\$3,325.00	\$117.19	\$4,101.65
3.	30" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1210	\$101.00	\$122,210.00	\$115.00	\$139,150.00	\$144.46	\$174,796.60
	REMOVE AND OFFSITE DISPOSAL OF STORM SEWER OUTFALL, INCLUDES SLOPE PAVEMNET, SLOPED END TREATMENT, AND ALL APPURTENANCES, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE.	EA	1	\$420.00	\$420.00	\$230.00	\$230.00	\$669.38	\$669.38
	CONSTRUCT REINFORCED CONCRETE TYPE "C" MANHOLE ON EXISTING 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS AND APPURTENANCES, ALL DEPTHS, COMPLETE IN PLACE.	EA	1	\$3,522.00	\$3,522.00	\$4,415.00	\$4,415.00	\$5,890.50	\$5,890.50
6.	STAGE I - MODIFIED REINFORCED CONCRETE TYPE "C" INLET, (5' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$2,489.00	\$7,467.00	\$1,700.00	\$5,100.00	\$2,875.13	\$8,625.39
	STAGE II - MODIFIED REINFORCED CONCRETE TYPE "C" INLET, (5' MINIMUM INSIDE OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$1,693.00	\$5,079.00	\$2,065.00	\$6,195.00	\$3,060.00	\$9,180.00
	STAGE I - MODIFIED TYPE REINFORCED CONCRETE "C-1" INLET, (10' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$2,714.00	\$5,428.00	\$1,700.00	\$3,400.00	\$3,436.13	\$6,872.26
	STAGE II - MODIFIED REINFORCED CONCRETE TYPE "C-1" INLET, (10' MINIMUM INSIDE OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$2,029.00	\$4,058.00	\$3,200.00	\$6,400.00	\$4,060.88	\$8,121.76
	STAGE I - REINFORCED CONCRETE TYPE "C-2" INLET, (5' OPENING ON BOTH SIDES), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,489.00	\$2,489.00	\$1,700.00	\$1,700.00	\$2,875.13	\$2,875.13
	STAGE II - REINFORCED CONCRETE TYPE "C-2" INLET, (5' OPENING ON BOTH SIDES), ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,366.00	\$2,366.00	\$3,700.00	\$3,700.00	\$5,068.13	\$5,068.13

FRN F-1386 LJA Engineering, Inc.

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 129 CITY OF WILLIS, MONTGOMERY COUNTY, TEXAS JULY 17, 2025 LIA ENGINEERING, INC. A.CAROTHERS JULY 17, 2025 0474-0245 (9.2)

				1) BLAZEY CONSTR	UCTION SERVICES LLC	2) MTEX CON	STRUCTION, LLC	3) CE BA	RKER LTD.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
12. EXC INC COI	CAVATION AND GRADING OF EXTREME EVENT OVERFLOW SWALE, CLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND MPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" TS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	165	\$5.60	\$924.00	\$12.00	\$1,980.00	\$12.75	\$2,103.75
SLC	TFALL SLOPE PROTECTION NO. 1 FOR 30" RCP STORM SEWER, INCLUDES OPE PAVING, TOE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE BRIC, COMPLETE IN PLACE	EA	1	\$3,968.00	\$3,968.00	\$4,650.00	\$4,650.00	\$5,383.34	\$5,383.34
	ENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, MPLETE IN PLACE	LF	1245	\$0.30	\$373.50	\$1.00	\$1,245.00	\$1.28	\$1,593.60
GEI	ORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES NERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN E BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$1,541.00	\$1,541.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00
- 2' STR 95%	CAVATION AND GRADING OF OUTFALL SWALE, 3:1 MINIMUM SIDE SLOPE BOTTOM (ALL DEPTHS), INCLUDING HAULING OF SPOIL MATERIAL, RIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 6 STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND REPLICATION OF STRIPPINGS, COMPLETE IN PLACE.	LF	31	\$5.60	\$173.60	\$12.00	\$372.00	\$12.75	\$395.25
SUBTOTAL B	ASE BID DIVISION IV - DRAINAGE FACILITIES			•	\$188,750.10	-	\$212,962.00	-	\$286,350.74
1. WE	VISION V - MISCELLANEOUS ITEMS IT SAND CONSTRUCTION (AS PER DETAIL), (TO BE USED ONLY AT THE RITTEN DIRECTION OF THE OWNER), COMPLETE IN PLACE	LF	1000	\$10.00	\$10,000.00	\$10.00	\$10,000.00	\$10.00	\$10,000.00
	WATERING (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE //NER), COMPLETE IN PLACE	LF	1000	\$40.00	\$40,000.00	\$40.00	\$40,000.00	\$40.00	\$40,000.00
3. EXT	TRA CLEARING AND GRUBBING, COMPLETE IN PLACE	AC	1	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
	OCK SODDING, PER SECTION 12 SPECIFICATION (TO BE USED ONLY AS SECTED BY THE OWNER), COMPLETE IN PLACE	SF	500	\$0.50	\$250.00	\$0.30	\$150.00	\$0.30	\$150.00
5. BR0	OADCAST SEEDING OF RESERVES, COMPLETE IN PLACE	AC	3	\$897.00	\$2,691.00	\$450.00	\$1,350.00	\$1,147.50	\$3,442.50
	RIPPING MINIMUM OF 4-INCHES OF SURFACE MATERIAL AND HAUL TSIDE THIS DEVELOPMENT, COMPLETE IN PLACE	AC	1	\$1,121.00	\$1,121.00	\$1,500.00	\$1,500.00	\$10,000.00	\$10,000.00
THI	CREASE IN CLEARING AND GRUBBING COST TO CHIP AND HAUL OUTSIDE IS DEVELOPMENT (AT WRITTEN DIRECTION BY THE OWNER), COMPLETE PLACE	AC	1	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
USI COI	UL AND DISPOSE OF UTILITY SPOILS TO DESIGNATED FILL AREAS ONSITE, ING OFF ROAD TRUCKS (0-0.5 MILES), INCLUDES PLACEMENT AND MPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" TS, COMPLETE IN PLACE	LS	1	\$25,643.00	\$25,643.00	\$13,400.00	\$13,400.00	\$7,650.00	\$7,650.00
	MENT STABILIZED SAND (TO BE USED ONLY AS DIRECTED BY THE OWNER), MPLETE IN PLACE	CY	10	\$36.00	\$360.00	\$15.00	\$150.00	\$20.00	\$200.00
	DUCTION OF STAGE II INLETS, NOT CONSTRUCTED FOR THIS PROJECT, MPLETE IN PLACE	EA	0	-\$500.00	\$0.00	-\$500.00	\$0.00	-\$500.00	\$0.00
11. EXT	TRA FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	500	\$2.40	\$1,200.00	\$1.70	\$850.00	\$2.23	\$1,115.00

FRN F-1386 LJA Engineering, Inc.

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 129
CITY OF WILLIS, MONTGOMERY COUNTY, TEXAS
JULY 17, 2025
LIA ENGINEERING, INC.
A.CAROTHERS
JULY 17, 2025
0474-0245 (9.2)

				1) BLAZEY CONSTR	UCTION SERVICES LLC	2) MTEX CONS	2) MTEX CONSTRUCTION, LLC		KER LTD.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	JUST MANHOLE RIM TO FINAL GRADE, (AS DIRECTED BY ENGINEER), MPLETE IN PLACE	EA	5	\$28.00	\$140.00	\$250.00	\$1,250.00	\$100.00	\$500.00
SUBTOTAL B	ASE BID DIVISION V - MISCELLANEOUS ITEMS			-	\$91,405.00	_	\$78,650.00	_	\$83,057.50
1. EXC EXC TRU PLA MA	NO. 1 ALTERNATE BID NO. 1 ITEMS CAVATION WITHIN FUTURE ROAD RIGHT-OF-WAY, INCLUDES HAULING CAVATED MATERIAL TO DESIGNATED DISPOSAL SITE, USING ON ROAD JCKS, (0-0.5 MILE), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, ACEMENT COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH IXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPING TO FINAL GRADED EA, COMPLETE IN PLACE	СУ	1400	\$15.00	\$21,000.00	\$6.40	\$8,960.00	\$9.00	\$12,600.00
2. 6" (CEMENT STABILIZED SUB-GRADE, COMPLETE IN PLACE	SY	5100	\$10.00	\$51,000.00	\$4.45	\$22,695.00	\$8.00	\$40,800.00
	MENT FOR SUBGRADE PREPARATION (10% CEMENT BY WEIGHT) AS QUIRED BY SOIL CONDITIONS AND APPROVED BY OWNER, COMPLETE IN ACE	TON	140	\$331.00	\$46,340.00	\$250.00	\$35,000.00	\$300.00	\$42,000.00
4. 6" F	REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	4730	\$63.00	\$297,990.00	\$58.80	\$278,124.00	\$54.00	\$255,420.00
5. 6" F	REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	473	\$6.30	\$2,979.90	\$4.50	\$2,128.50	\$4.00	\$1,892.00
6. 4" >	X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	2570	\$6.30	\$16,191.00	\$4.50	\$11,565.00	\$4.00	\$10,280.00
MA	NCRETE TRUCK WASHOUT AREA, INCLUDES INSTALLATION, INTENANCE AND REMOVAL, (LOCATION TO BE DIRECTED BY THE INER), COMPLETE IN PLACE	EA	1	\$3,640.00	\$3,640.00	\$355.00	\$355.00	\$3,000.00	\$3,000.00
	RMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, VEMENT STRIPING, STREET SIGNS AND TRAFFIC SIGNS), COMPLETE IN ACE	LS	1	\$3,671.00	\$3,671.00	\$2,000.00	\$2,000.00	\$2,750.00	\$2,750.00
	TRA TRAFFIC SIGNS, COMPLETE IN PLACE ILTERNATE NO. 1 ALTERNATE BID NO. 1 ITEMS	EA	1	\$1,250.00 _	\$1,250.00 \$444,061.90	\$550.00	\$550.00 \$361,377.50	\$1,000.00	\$1,000.00 \$369,742.00
1. ROA MA MIL COI	NO. 2 ALTERNATE BID NO. 2 ITEMS AD RIGHT OF WAY EXCAVATION, INCLUDES HAULING EXCAVATED ITERIAL TO DESIGNATED FILL AREAS USING ON ROAD TRUCKS, (1.0 - 1.5 LES), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND MPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" TS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	СУ	2540	\$18.40	\$46,736.00	\$12.02	\$30,530.80	\$31.88	\$80,975.20
EXC TRU PLA WIT	CAVATION OF MATERIAL ON FUTURE LOTS, INCLUDING HAULING CAVATED MATERIAL TO DESIGNATED FILL AREAS, USING ON ROAD JCKS, (1.0 - 1.5 MILES), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, ACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, TH MAXIMUM 8" LIFTS, AND RE-APPLICATIONS OF STRIPPINGS TO FINAL ADED AREA, COMPLETE IN PLACE.	CY	29500	\$18.40	\$542,800.00	\$12.02	\$354,590.00	\$8.93	\$263,435.00
3. FIN	AL LOT & RESERVE GRADING, COMPLETE IN PLACE	EA	14	\$600.00	\$8,400.00	\$500.00	\$7,000.00	\$382.50	\$5,355.00
SUBTOTAL A	LITERNATE NO. 2 ALTERNATE BID NO. 2 ITEMS			-	\$597,936.00	_	\$392,120.80	_	\$349,765.20

ALTERNATE NO. 3 ALTERNATE BID ITEMS NO. 3

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 129
CITY OF WILLIS, MONTGOMERY COUNTY, TEXAS
JULY 17, 2025
LIA ENGINEERING, INC.
A.CAROTHERS
JULY 17, 2025
0474-0245 (9.2)

				1) BLAZEY CONSTRU	ICTION SERVICES LLC	2) MTEX CONS	TRUCTION, LLC	3) CE BARKER LTD.	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	1. ROAD RIGHT OF WAY EXCAVATION, INCLUDES HAULING EXCAVATED MATERIAL TO DESIGNATED FILL AREAS USING ON ROAD TRUCKS, (2.5 - 3.0 MILES), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	EA	2540	\$19.70	\$50,038.00	\$17.10	\$43,434.00	\$31.88	\$80,975.20
2	2. EXCAVATION OF MATERIAL ON FUTURE LOTS, INCLUDING HAULING EXCAVATED MATERIAL TO DESIGNATED FILL AREAS, USING ON ROAD TRUCKS, (2.5 - 3.0 MILES), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATIONS OF STRIPPINGS TO FINAL GRADED AREA, COMPLETE IN PLACE	EA	29500	\$19.70	\$581,150.00	\$17.40	\$513,300.00	\$8.93	\$263,435.00
SUBTO	TAL ALTERNATE NO. 3 ALTERNATE BID ITEMS NO. 3			_	\$631,188.00		\$556,734.00	_	\$344,410.20
BID SU	MMARY								
BASE B	ID DIVISION I - WATER DISTRIBUTION SYSTEM				\$106,049.50		\$124,943.50		\$127,003.58
BASE B	ID DIVISION II - ONSITE SANITARY SEWER COLLECTION SYSTEM				\$226,188.94		\$231,220.80		\$280,550.37
BASE B	ID DIVISION III - OFFSITE SANITARY SEWER COLLECTION SYSTEM				\$65,489.70		\$72,151.70		\$83,926.16
BASE B	ID DIVISION IV - DRAINAGE FACILITIES				\$188,750.10		\$212,962.00		\$286,350.74
BASE B	ID DIVISION V - MISCELLANEOUS ITEMS				\$91,405.00		\$78,650.00		\$83,057.50
TOTAL	AMOUNT BASE BID				\$677,883.24		\$719,928.00		\$860,888.35
ALTERN	NATE NO. 1								
TOTAL	AMOUNT BASE BID				\$677,883.24		\$719,928.00		\$860,888.35
ALTERN	NATE BID NO. 1 ITEMS				\$444,061.90		\$361,377.50		\$369,742.00
TOTAL	ALTERNATE NO. 1 PLUS BASE BID				\$1,121,945.14		\$1,081,305.50		\$1,230,630.35
ALTERN	NATE NO. 2								
TOTAL	AMOUNT BASE BID				\$677,883.24		\$719,928.00		\$860,888.35
ALTERN	NATE BID NO. 2 ITEMS				\$597,936.00		\$392,120.80		\$349,765.20
TOTAL	ALTERNATE NO. 2 PLUS BASE BID				\$1,275,819.24		\$1,112,048.80		\$1,210,653.55
ALTERN	NATE NO. 3								
TOTAL	AMOUNT BASE BID				\$677,883.24		\$719,928.00		\$860,888.35

BID TABULATION FOR:

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES, GRADING, PAVING AND APPURTENANCES TO SERVE THE WOODLANDS HILLS SECTION 45_REBID

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 129

CITY OF WILLIS, MONTGOMERY COUNTY, TEXAS JULY 17, 2025

LJA ENGINEERING, INC.

A.CAROTHERS JULY 17, 2025 0474-0245 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

				1) BLAZEY CONSTR	RUCTION SERVICES LLC	2) MTEX CON	ISTRUCTION, LLC	3) CE B	ARKER LTD.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
ALTERNATE BID IT	EMS NO. 3				\$631,188.00		\$556,734.00		\$344,410.20

TOTAL ALTERNATE NO. 3 PLUS BASE BID \$1,309,071.24 \$1,276,662.00 \$1,205,298.55